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BOOKS - JEEVITH PUBLICATIONS MATHS

(KANNADA ENGLISH)

SUPER MODEL QUESTION PAPER-1

Part A

1. Given that the number of subsets of a set A is 8. Find

the number of elements in A.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qGuDKIzJycPS
https://dl.doubtnut.com/l/_SRXX5tSPoHOb


2. If tan  and x lies in the third quadrant, find cos x

Watch Video Solution

x =
3

4

3. Find 'n' if 

Watch Video Solution

' ' C7 = ' ' C6.

4. Solve 

Watch Video Solution

7x + 3 < 5x + 9, x ∈ N

https://dl.doubtnut.com/l/_SRXX5tSPoHOb
https://dl.doubtnut.com/l/_4sTVxQGaLDqH
https://dl.doubtnut.com/l/_S8BMnmJZr6dN


5. The arithmetic mean of 4 and another number is 10.

Find the other number.

Watch Video Solution

6. Find the distance between

Watch Video Solution

3x + 4y + 5 = 0 and 6x + 8y + 2 = 0

7. Given 

Watch Video Solution
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find lim
x → 0

f(x)
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https://dl.doubtnut.com/l/_IJVHx28CY4g3
https://dl.doubtnut.com/l/_xdHsLoewgIjf
https://dl.doubtnut.com/l/_K8ZHTBjiZsk8


8. write the negation of 'For all 

Watch Video Solution

a, b ∈ I, a − b ∈ I' .

9. The coefficient of variation for a distribution is 60 and

standard deviation is 21. Find the arithmetic mean.

Watch Video Solution

10. Which plane (4,2,0) lies in?

Watch Video Solution

https://dl.doubtnut.com/l/_K8ZHTBjiZsk8
https://dl.doubtnut.com/l/_lSIE5L0lm3hD
https://dl.doubtnut.com/l/_uhIi0UCYJHYE
https://dl.doubtnut.com/l/_vG6IAldzlKXt


Part B

1. If A and B are two disjoint sets and n (A) = 15 and n (B) =

10 find n 

Watch Video Solution

(A ∪ B), N(A ∩ B).

2.  is a linear function defined by 

, find f(x)

Watch Video Solution

f : Z → Z

f = {(1, 1), (0, − 1), (2, 3)}

3. The minute hand of a clock is 2.1cm long. How far does

its tip move is 20 minute. (useπ = )
22

7

https://dl.doubtnut.com/l/_3jU3TazsnoFg
https://dl.doubtnut.com/l/_68HieyS4fYEz
https://dl.doubtnut.com/l/_nFL99oHcWCBk


Watch Video Solution

4. Solve 

Watch Video Solution

2 cos2 x + 3 sin x = 0

5. Prove that 

Watch Video Solution

= tan 2x
sin x + sin 3x

cos x + cos 3x

6. If the sum of a certain number of terms of the A.P.

25,22,19........is 116 then find the number of terms.

Watch Video Solution

https://dl.doubtnut.com/l/_nFL99oHcWCBk
https://dl.doubtnut.com/l/_27Jx26I5RBID
https://dl.doubtnut.com/l/_WS3caM5V5qWr
https://dl.doubtnut.com/l/_Kxm4vRLxw8JH


7. Write the inverse , converse of 'If a parallelogram is a

square , then it is a rhombus.

Watch Video Solution

8. Find the terms independent of x in the expansion of

Watch Video Solution

(x2 + )
9

1

x

9. Let . Find the imaginary part

of 

Watch Video Solution

z1 = 2 − i, z2 = − 2 + i

1

z1¯̄¯z2

https://dl.doubtnut.com/l/_Kxm4vRLxw8JH
https://dl.doubtnut.com/l/_h7opi5AUHnSm
https://dl.doubtnut.com/l/_QXwAFdakZkhY
https://dl.doubtnut.com/l/_boKBpMMA9Rfm


10. Obtain all paris of consecutive odd natural numbers

such that in such that in each pair both are more than

50 and their sum is less than 120.

Watch Video Solution

11. A line cuts of equal intercepts on the coordinate axes.

Find the angle made by the line with the positive x - axis.

Watch Video Solution

https://dl.doubtnut.com/l/_boKBpMMA9Rfm
https://dl.doubtnut.com/l/_YbYgaHeHlCAi
https://dl.doubtnut.com/l/_1Cr6WXdqWBGi


Point C

12. Show that the points

from a rhombus.

Watch Video Solution

A(5, − 1, 1), B(7, − 4, 7), C(1, − 6, 10), D( − 1, − 3, 4)

13. The centroid of a triangle ABC is ( 1, 2, 2) If the

coordinates of A and B are

 respectively . Find the

coordinates of C.

Watch Video Solution

(3, − 5, 7) and ( − 1, 7, − 6)

https://dl.doubtnut.com/l/_Lcv6XGrMaBVD
https://dl.doubtnut.com/l/_pRbSyrWs6zdp


1. Out of a group of 200 students (who know at least one

language), 100 students know English , 80 students know

Kannada, 70 students know . Hindi . If 40 students know

all the three languages . Find the number of students

who know exactly two languages.

Watch Video Solution

2. Let  be a relation defined by 

 . Show that 

(i)  

(ii)  

(iii) 

Watch Video Solution

R : Z → Z

R = {(a, b) : a, b, ∈ Z, a − b ∈ z)

∀a ∈ Z, (a, a) ∈ R

(a, b) ∈ R ⇒ (b, a) ∈ R

(a, b) ∈ R ⇒ (b, c) ∈ R ⇒ (a, c) ∈ R

https://dl.doubtnut.com/l/_TqMwygwwLDqS
https://dl.doubtnut.com/l/_rETW9ZEgZcrU


3. Show that 

Watch Video Solution

√3  cosec 20∘ − sec 20∘ = 4

4. Prove that

Watch Video Solution

(cos x + cos y)2 + (sin x − sin y)2 = 4 cos2( )
x + y

2

5. Convert the complex number  in the

polar form.

Watch Video Solution

z =
i − 1

+ icos π

3
sin π

3

https://dl.doubtnut.com/l/_rETW9ZEgZcrU
https://dl.doubtnut.com/l/_uZ8b6WNjpbtj
https://dl.doubtnut.com/l/_PF52UtbvEjPT
https://dl.doubtnut.com/l/_HALLkXXYB3BY


6. Solve graphically 

Watch Video Solution

x + y ≤ 9, y ≥ x, x ≥ 0

7. If  then prove taht 

Watch Video Solution

x + iy =
2 + i

2 − i
x2 + y2 = 1

8. Find the image of (2,3) on the line 3x+5y=4.

Watch Video Solution

https://dl.doubtnut.com/l/_HALLkXXYB3BY
https://dl.doubtnut.com/l/_2ZlIy36XGExp
https://dl.doubtnut.com/l/_hpHoKv9cspkY
https://dl.doubtnut.com/l/_nI0OADVS8HA4


9. Reduce the equation  to normal

form and find the length of the Perpendicular to the

normal from origin and angle made by it with positive x

axis.

Watch Video Solution

√3x + y − 8 = 0

10. An amount Rs 500/- is deposited in a bank. If the bank

pays an interest at the of 10% compound annually, how

much will be the amouth in 10years?

Watch Video Solution

https://dl.doubtnut.com/l/_iRTykAsFzEAG
https://dl.doubtnut.com/l/_Cj61u7F4wLaS


11. A parabola with vertex at origin has its focus at the

center of  Find its directrix and

latus rectum.

Watch Video Solution

x2 + y2 − 10x + 9 = 0

12. If  and see

whether it equals f(2).

Watch Video Solution

f(x) = ,  find lim
x → 2

f(x)
x2 − 4

x√x − 2√2

13. Verify by the method of contradiction that  is

irrational .

h id l i

√2

https://dl.doubtnut.com/l/_xdYTNlTGwJgs
https://dl.doubtnut.com/l/_R6PNjILep2ad
https://dl.doubtnut.com/l/_zfPdt6QIuVVd


Point D

Watch Video Solution

1. Two students Anil and Sunil appear in an examination.

The probability that Anil will qualify in the examination is

0.05 and that Sunil Will qualify is 0.10. The probability

that both will qualify in the examination is 0.02 find the

probability that Anil and Sunil Will not qualify in the

examination.

Watch Video Solution

https://dl.doubtnut.com/l/_zfPdt6QIuVVd
https://dl.doubtnut.com/l/_13CR1w3EwQLJ


2. Prove that  , (  being in radians) and

hence show that  ?

Watch Video Solution

lim
θ → 0

= 1
sin θ

θ
θ

lim
θ → 0

= 1
tan θ

θ

3. 

Watch Video Solution

12 + 22 + 32 + .......... + n2 =
n(n + 1)(2n + 1)

6

4. A group consists of 7 boys and 5 girls . Find the

number of ways in which a team of 5 members can be

selected so as to have atleast one boy and girl.

Watch Video Solution

https://dl.doubtnut.com/l/_k0hR0L6aoaOc
https://dl.doubtnut.com/l/_BOzR9xvj2mg4
https://dl.doubtnut.com/l/_NXVbnFMqH9Zi


5. Prove that the Binomial theorem

for any positive integer 'n'.

Watch Video Solution

(a + b)n = nC0an + nC1an − 1b + nC2an − 2b2 + . . nCnbn

6. Derive the equation of the ellipse in the form

.

Watch Video Solution

+ = 1
x2

a2

y2

b2

7. Find the mean deviation about the mean for the

following data. 

https://dl.doubtnut.com/l/_NXVbnFMqH9Zi
https://dl.doubtnut.com/l/_hIh8svNdDqzx
https://dl.doubtnut.com/l/_MC4HoqXED8vk
https://dl.doubtnut.com/l/_YK77aiNHq1Ep


Watch Video Solution

8. Derive a formula for the angle between two lines with

slopes . Hence the slopes of the lines which

make an angle  with the line 

Watch Video Solution

m1 and m2

π

4
x − 2y + 5 = 0

9. Find the sum to n terms of the series

Watch Video Solution

12 + (12 + 22) + (12 + 22 + 32) + .... .

https://dl.doubtnut.com/l/_YK77aiNHq1Ep
https://dl.doubtnut.com/l/_1A36JTHm0SfN
https://dl.doubtnut.com/l/_JqLyOlkJmQ0w


Point E

1. Show that 

Watch Video Solution

cos 2A = cos2 A − sin2 A

2. If

,

what are the possible value of 'a and b'?

Watch Video Solution

f(x)
⎧⎪
⎨
⎪⎩

a + bx x < 1

4 x = 1

b − ax x > 1

and  if lim
x → 1

f(x) = f(1)

https://dl.doubtnut.com/l/_g8uLK9PPpJFe
https://dl.doubtnut.com/l/_cNr6yVctPX4w


3. Define hyperbola as a set of points derive its equation

in the form 

Watch Video Solution

− = 1
x2

a2

y2

b2

4. Find the derivative of  using rulles of

differentiation.

Watch Video Solution

x + cos x

sin x

https://dl.doubtnut.com/l/_jDVfPulEUehq
https://dl.doubtnut.com/l/_PZkyVpg1vc5b

